Generation of gravitational waves hu (x,f)= 76 (a?x' Su (x', t - 1x - x')) Consider the Fourier transformation of the source Sp. (x,+) = Tyr - 1/1 Th $S_{\mu\nu}(\vec{x},\omega) = \int at \ e^{i\omega t} S(\vec{x},t)$ or: $S_{\mu\nu}(\vec{x},t) \simeq \left(\frac{\partial \omega}{\partial \tau} e^{-i\omega t} S(\vec{x},\omega)\right)$ $(Sh_{\mu\nu} = 76 \int \frac{d\omega}{k\pi} d^{3}x' + \frac{1}{|k-x'|} S_{\mu\nu} (\vec{x}', \omega)$ * exp { iwt+ iw |x-r'l} Next, we use the wave zone approximation meaning the observer is quite far away from the source $|X| \ll |x| = r$

 $\left| \begin{array}{c} \times - \chi' \end{array} \right| = \left(\left| \left(\overrightarrow{x} - \overrightarrow{\chi}' \right) \right| \left(\left| \left(\overrightarrow{\chi} - \overrightarrow{\chi}' \right) \right| \right) \right|$ $= (x^2 - 2x \cdot x' + x'^2$ $= \gamma - \frac{\vec{\chi}' \cdot \vec{\chi}}{2}$ $h_{\mu\nu} = \int \frac{d\omega}{d\omega} \frac{\psi}{\chi} \exp(i\omega x - i\omega t)$ $\times \left(\frac{\partial^2}{\partial x'} \right) \int_{\mathcal{W}} \frac{(x', w) e^{-iw \overline{x'} \cdot \overline{x'}}}{\sqrt{2}}$ Notice that if we identify $\overline{t} = \frac{\widehat{x}}{2} \cdot \bigcup_{i} k^{\circ} = \omega$ $h_{\mu\nu}(\vec{x},t) = \int \frac{d\omega}{2\pi} e_{\mu\nu} e_{\mu\nu}(ih_{\mu} \times t)$ $e_{\mu\nu}(k\Gamma) = \frac{46}{r} \int dx' S_{\mu\nu}(x',\omega) e^{-it \cdot x'}$ $=\frac{44}{r}S_{\mu\nu}(t,w)/t=w_{\mu}^{\chi}$





P is the projection on the transverse plane Penke = Penkn = 0 $P^2 = P$; $T_r P = 2$ () _____ k; =0 (+3 of less) $\Delta_{i_1}e_{m} = \Delta_{i_1}u_{m} = 0$ This is the power emitted from a single mode در) with frequency If you would observe the system forever, one can also calculate the total energy radiated for the full spectrum. $\frac{dE}{d0} = \frac{G}{\pi} \Delta_{ij,ke} \left(\frac{E}{k} \right)$ $\times \int \frac{d\omega}{d\omega} \omega^2 \left(\left(T \right)^* T \right)^* \left(\frac{d\omega}{d\omega} \right)^2 \left(\left(T \right)^* T \right)^* \left(\frac{d\omega}{d\omega} \right)^2 \left(\frac{d\omega}{d\omega} \right)^2 \left(\left(T \right)^* T \right)^* \left(\frac{d\omega}{d\omega} \right)^2 \left(\frac$ $T(\vec{k}, \omega) = FT[\vec{k}, t)]$ $(f(\vec{k}, \omega)) = FT[\vec{k}, t)]$ $(f(\vec{k}, \omega)) = FT[\vec{k}, \omega)]$ $(f(\vec{k}, \omega)) = FT[\vec{k}, \omega)$